PELIEHHA

(Bapuanm 1)
1. (1 = 20Gvy)
t=1(30y)
3u,0,
Ucp = l/(t] e tz) = Ucp = l/[2]/(3 U]) c l/(3 Uz)] = =12 m/c
v, +U
2. {F + Feomp — (M + m)g =0 (pu paBHOMEPHOM CITyCKE)
F — Feomr — Mg = 0 (mipu paBHOMepHOM norbéme) => 2F —2Mg —mg =0 = m=2(Flg —M) m=100 xr
3.hV:AB],])(+eU3 :>hC/}\.K=hC/7\1K+eU3 :>U3=0
cU' U c,-C)U’
4. U=const = | 4| = ’| _ | -cpu?|
2 | | 2
C 0N | G lic e’
q = const = |A2|=‘q - ‘ =\( 1-C2)4 {=—1—————( 1-C2)
e, = |8 | 6 2
q gg,S
U=E,C= y , U, Tak Kak dy > d;, 0 C; > C 1 = | 45| > | A4 E2)
1
S E= kAx, ko];]_u:Nk
NF, =mg
L=vol
-1
L NF, Ax L /a
T=2n |—— o= op|on 2| = = |5 242 o~ 151 km/a
K op T gNF 2n \| FiAx

6. Ycnosus mepexmouenus: +0,54 = A-sin(of), wiu t = (/6 + nn)lo, t,=5n/6+ k), t;=(Tn/6+nm)/o.
T[Tpof0/DKUTETBHOCTD BCIIBILIKH: Ty = I — 11 = (57/6 — /6)/® = 21/(3w),
BpeMsl MEsK/Ly BCMBILIKAMHE: Ty = 13 — I = (T7/6 — 571/6)/® = n/(3w).

Takum obpasom, 1,/1; = [21/(30)]/[n/(3w)] =2 ‘ = B2 paza
AD BAS
7.6= T = T =IR= R ¥, TaK KaK MM 3a1aHHOH / MakcuMasibHOe AS 0CTHraeTcsl i OKpY»KHOCTH, TO €CTh
t t At
BAS _ BI*
AS = r? = I*/(4m), Ag = = A¢=1,610"Kn Ag=1,6 MKn
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PEILIEHHA

(Bapuanm 2)
I ’ R, I R
1. R=p—, umnockoneky V=1IS, R=p— = nipu V = const —2—=i?_ = -1 =4
S V Rl ll Rl
2.{m1gll = mgl, )
nglz = mg11 = mimy = m2 > m= mym, = m=6Kkr
3. dsino=m\ = m=dsino/A = myaxc = [d/\] npu sino = 1 = miyakc = [2500/510] = 4

4. Jlns KaXa0ro y4acTka KoJbLla Macco 71, MMEBIIEro BHa4ajle CKOPOCTh U M OCTaHABJIMBAIOLIErOCA (v =0) uepes
BpeMs [:

Frp = umg =ma
1] =0=v-—at
v=0R =>t=Ro/(ug) t=lc

2Nsino. = mv*/R
2Ncosa. = mg = sino/cosa = V/(RQ)

COSOH= \ll-sinzoc
bv
sino. = Ax/b D>AX= ————
wIRZg2 .y

2
=>Ax~0,1m=10cm

6. T = Ty2 + 2t = m+/m/k + 24, TAie t; — BpeMs, KOTOPOE 3aTPayUBACTCs MIAPHKOM OT MPOXONACHUS MONOKEHHS

paBHOBECHs [0 yaapa O IUIUTY. Al2=2cM,,

A2 = Asinot; = ot = 1/6 = 1 = T/(60) = t, = n/(6Jk/m )= 1 = nm/k /6, mnm“nmqmmu g
< | ”
T=nm/k +n,/m/k/3:4§\/%=?n,/?’ol = T~042¢

7. qNt-he/h = 3mR(Ty — T1)/(2M), otkyaa N =3mRMT; — Th)/(2tMnhc) = N=2.10"%¢"!




